
3-Digit Minus 1-Digit Subtraction (J)
Name: Date: Score:

Calculate each difference.

248 − 1 =
593 − 2 =
986 − 5 =
819 − 5 =
295 − 8 =
705 − 8 =
758 − 6 =
507 − 9 =
908 − 8 =
491 − 1 =
768 − 4 =
378 − 9 =
604 − 6 =
274 − 1 =
162 − 9 =
730 − 2 =
953 − 1 =
430 − 4 =
913 − 7 =
462 − 5 =
599 − 8 =
279 − 8 =
515 − 6 =
435 − 5 =
812 − 7 =

329 − 7 =
675 − 5 =
748 − 4 =
696 − 9 =
419 − 1 =
271 − 1 =
150 − 2 =
554 − 2 =
845 − 2 =
702 − 4 =
967 − 9 =
539 − 9 =
288 − 3 =
670 − 4 =
598 − 3 =
545 − 5 =
939 − 8 =
227 − 9 =
981 − 7 =
695 − 3 =
236 − 9 =
752 − 2 =
664 − 9 =
145 − 2 =
651 − 1 =

388 − 4 =
643 − 7 =
239 − 2 =
706 − 5 =
375 − 7 =
644 − 9 =
779 − 8 =
735 − 6 =
961 − 1 =
702 − 3 =
557 − 7 =
459 − 1 =
185 − 4 =
313 − 3 =
143 − 7 =
675 − 1 =
854 − 1 =
115 − 4 =
335 − 5 =
439 − 9 =
114 − 2 =
927 − 6 =
918 − 8 =
298 − 3 =
982 − 1 =

389 − 9 =
630 − 6 =
547 − 3 =
937 − 1 =
801 − 3 =
356 − 1 =
194 − 8 =
497 − 8 =
866 − 3 =
527 − 4 =
771 − 5 =
517 − 2 =
894 − 7 =
910 − 4 =
504 − 7 =
940 − 3 =
991 − 9 =
683 − 7 =
324 − 1 =
254 − 2 =
769 − 4 =
233 − 7 =
186 − 5 =
546 − 9 =
422 − 3 =
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3-Digit Minus 1-Digit Subtraction (J) Answers
Name: Date: Score:

Calculate each difference.

248 − 1 = 247
593 − 2 = 591
986 − 5 = 981
819 − 5 = 814
295 − 8 = 287
705 − 8 = 697
758 − 6 = 752
507 − 9 = 498
908 − 8 = 900
491 − 1 = 490
768 − 4 = 764
378 − 9 = 369
604 − 6 = 598
274 − 1 = 273
162 − 9 = 153
730 − 2 = 728
953 − 1 = 952
430 − 4 = 426
913 − 7 = 906
462 − 5 = 457
599 − 8 = 591
279 − 8 = 271
515 − 6 = 509
435 − 5 = 430
812 − 7 = 805

329 − 7 = 322
675 − 5 = 670
748 − 4 = 744
696 − 9 = 687
419 − 1 = 418
271 − 1 = 270
150 − 2 = 148
554 − 2 = 552
845 − 2 = 843
702 − 4 = 698
967 − 9 = 958
539 − 9 = 530
288 − 3 = 285
670 − 4 = 666
598 − 3 = 595
545 − 5 = 540
939 − 8 = 931
227 − 9 = 218
981 − 7 = 974
695 − 3 = 692
236 − 9 = 227
752 − 2 = 750
664 − 9 = 655
145 − 2 = 143
651 − 1 = 650

388 − 4 = 384
643 − 7 = 636
239 − 2 = 237
706 − 5 = 701
375 − 7 = 368
644 − 9 = 635
779 − 8 = 771
735 − 6 = 729
961 − 1 = 960
702 − 3 = 699
557 − 7 = 550
459 − 1 = 458
185 − 4 = 181
313 − 3 = 310
143 − 7 = 136
675 − 1 = 674
854 − 1 = 853
115 − 4 = 111
335 − 5 = 330
439 − 9 = 430
114 − 2 = 112
927 − 6 = 921
918 − 8 = 910
298 − 3 = 295
982 − 1 = 981

389 − 9 = 380
630 − 6 = 624
547 − 3 = 544
937 − 1 = 936
801 − 3 = 798
356 − 1 = 355
194 − 8 = 186
497 − 8 = 489
866 − 3 = 863
527 − 4 = 523
771 − 5 = 766
517 − 2 = 515
894 − 7 = 887
910 − 4 = 906
504 − 7 = 497
940 − 3 = 937
991 − 9 = 982
683 − 7 = 676
324 − 1 = 323
254 − 2 = 252
769 − 4 = 765
233 − 7 = 226
186 − 5 = 181
546 − 9 = 537
422 − 3 = 419
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